Meter Test Report No. : 25.7.2013 Date: 25.7.2013 lock = _
Meter Type : KM34Z128 Voltage : 230 V Class: C PGA OFFI SD clock = 6'144MHZI IMCU @12.288 MHz — 8.11mA
Ineutral: 6.144MHz NRM, TR10LSH: f;;’j;g&w’ Frequency : 50 Hz Manufact. g ccale ';’ljasureme”t ;'\(;‘”'t'p'e L) xzasurement (Sl\(;lult'ple Items)
Tested by : Mienkina Current : 5(120) A Mtr. Const: 50000 1 :
Measurement Iref(%) . IrefA) | UV) PF | Freq |ERR(%) STDEV [%] Sum of ERR (%) ~ Column Labels SnwarEreEbd) el kel
Serial Number 40 B0 Row Labels PF=1 PF=0.8C(R) PF=0.8C(A) PF=0.5L(R) PF=0.5L(A) PF=0 Grand Total Row Labels PF=1 PF=0.8C(R) PF=0.8C(A) PF=0.5L(R) PF=0.5L(A) PF=0  Grand Total
200%In, 100%Un, preheating 200 b 0000 0.015 -0.08 -0.06 -0.14 0.015 0.17 0.3 0.47
L%, KOV 0, 001 ot ecitve el et | 100 Sl 230 PF=0.707L(A) . 50 | . 0000 0.05 0.09 0.06 0.15 0.05 0.1 0.099 0.199
1100%In, 100%Un, 0.707L (45°), reactive, calib. point 100 , 5 230 | PF=0.707L(R) 50 0.000 0.1 -0.03 0.01 -0.02 0.1 0.064 0.072 0.136
‘Starting Current Test 230 50 0.000 0.25 0.06 0.04 0.08 0.06 0 0.03 0.27 0.25 0.027 0.045 0.076 0.03 0.028  0.018 0.224
0.3%In, 100%Un, 1L (0°), acive 093 = 0015 | 230 | P10 | -008 0170 0.5 0.02 -0.02 0.02 0 0 005 0.07 0.5 0.031 0.029 0.025 0.002 0.0084  0.016 0.1114
0.3%In, 100%Un, OL (90°), reactive =03 = 0015 { _________ 230 PF<O . 50 | 006 0300 1 0.02 0.02 0.02 0.04 0 0.03 0.13 1 0.004 0.02 0.013 0.016 0.023  0.0068 0.0828
' 1%In, 100%Un, 1L (0°), active 1 0.05 230 PF=1 50 0.09 0.100 2 0.03 0.02 0.02 0.03 0.04 0.03 0.17 2 0.0068 0.022 0.011 0.011 0.008  0.011 0.0698
11%In, 100%Un, OL (90°), reactive 1 0.05 230 PF=0 50 0.06 0.099 5 0.02 -0.01 0.03 0.03 0.03 0.03 0.13 5 0.006 0.014 0.0037 0.0092 0.016  0.004 0.0529
12%In, 100%Un, 1L (0°), active 2 0.1 230 PF=1 50 -0.03 0.064 10 0.02 0.03 0.03 0.02 0.02 0.03 0.15 10 0.0063 0.028 0.014 0.0068 0.0073  0.011 0.0734
2%In, 100%Un, OL (90°), reactive = 2 01 | 230 | PF<O 50 | 001 0072 25 0.02 0.02 0 0.03 0.03 0.02 0.12 25 0.0092 0.022 0.017 0.0086 0.02 0.0086 0.0854
5%In, 100%Un, 1L (0°), active 5 0.25 230 PF=1 50 0.06 0.027 40 0.02 0 0.03 0.01 0 002 0.08 40 0.0058 0.016 0.0025 0.011 0.022 0.0051 0.0624
15%In, 100%Un, OL (90°), reactive 5 0.25 230 PF=0 50 0.03 0.018 60 0.02 0.02 0.01 0.02 0.01 0.02 0.1 60 0.004 0.021 0.013 0.013 0.025  0.0055 0.0815
15%In, 100%Un, 0.5L (60°), active 5 0.25 230 PF=0.5L(A) 50 0.00 0.028 80 0.02 0 0.02 0.01 0.01 0.01 0.07 80 0.002 0.031 0.0049 0.017 0.029 0.0084 0.0923
5%In, 100%Un, 0.5L (60°), reactive =5 025 | 230 | | PF=O5L(R) 50 | 006 0030 100 0.02 0.01 0.02 0.02 0.03 0.01 0.11 100 0.0037 0.012 0.004 0.0051 0.026  0.0087 0.0595
5%In, 100%Un, 0.8C (323%),active 5 025 | 230 | PF=0.8C(A) | 50 | 008 0076 120 0.02 0.02 0.06 0.05 0.02 0.03 0.2 120 0.0049 0.032 0.018 0.012 0.028  0.004 0.0989
5%In, 100%Un, 0.8C (323°), reactive 5 | 0.25 230 PF=0.8C(R) 50 0.04 0.045 Grand Total 0.27 0.15 0.34 0.32 0.19 0.32 1.59 Grand Total 0.4447 0.292 0.2021 0.1417 0.2407 0.5781 1.8993
17.5%In, 100%Un, 1L (0°C), active 7.5 0.375 230 PF=1 50 0.04 0.017
17.5%In, 100%Un, OL (90°C), reactive 75 | 0375 | 230 | | PFO . 50 | 003 0020
110%In, 100%Un, 1L (0°), active 10 0.5 230 PF=1 50 0.02 0.031 1 | | | | | |
110%In, 100%Un, OL (90°), reactive 10 0.5 230 PF=0 50 0.05 0.016 . . .
110%In, 100%Un, 0.5L (60°), active | 0 05 | 230 | PF=05L(A) . 50 | 000 0008 ERR [%] - Active and Reactive Energles
110%In, 100%Un, 0.5L (60°), reactive | 0 | 05 | 230 | | PF=0.5L(R) . 50 | 000 0002 0.8 .
10%In, 100%Un, 0.8C (323°), active 10 05 | 230 | preoscA) | 50 0.02 0.025 (unity and other power factors PF)
110%In, 100%Un, 0.8C (323°), reactive 10 0.5 230 PF=0.8C(R) 50 -0.02 0.029 )
20%In, 100%Un, 1L (0°), active 20 1 | 230 | PE=1 . s0 | 002 T 0004 0.6 EN 50470 CLASS C: 0.15-5(120)A —]
120%In, 100%Un, OL (90°), reactive 20 1 230 PF=0 50 0.03 0.007
120%lIn, 100%Un, 0.5L (60°), active 20 1 230 PF=0.5L(A) 50 0.00 0.023 0.4
20%In, 100%Un, 0.5L (60°), reactive 20 1 J 230 PF=0.5L(R) 50 0.04 0.016 .
20%In, 100%Un, 0.8C (323°), reactive 20 1 230 PF=0.8C(R) 50 0.02 0.020 0.2 PPl
140%In, 100%Un, 1L (0°), active 40 2 230 PF=1 50 0.03 0.007
40%In, 100%Un, OL (90°), reactive 40 2 230 PF=0 50 0.03 0.011 /s\\ | '\2" ®) e & o PO BN A | | L % '.'PF=O.8C(R)
40%In, 100%Un, 0.5L (60°), active 40 2 J 230 PF=0.5L(A) 50 0:04 0:008 0 ‘ 3 — : \éf— b*éﬁdfgr S g S R R —_— < B </ < PF=0.8 C( A)
40%In, 100%Un, 0.8C (323°), active 40 2 230 PF=0.8C(A) 50 0.02 0.011 - B e
140%In, 100%Un, 0.8C (323°), reactive 40 2 230 PF=0.8C(R) 50 0.02 0.022 -0.2
1100%In, 100%Un, 1L (0°), active 100 5 230 PF=1 50 0.02 0.006 -<PF=0.5 L( R)
100%In, 100%Un, OL (90°), reactive 0 5 230 | PF=O0 . 50 | 003 | 0004
1100%In, 100%Un, 0.5L (60°), active . 0 | 5 i """"" 230 | PF=0.5L(A) . 50 | 003 = 0016 -0.4 -«PF=0.5 |_( A)
1100%In, 100%Un, 0.5L (60°), reactive 100 5 230 PF=0.5L(R) 50 0.03 0.009
1100%In, 100%Un, 0.8C (323°), active 100 5 230 PF=0.8C(A) 50 0.03 0.004 -
1100%In, 100%Un, 0.8C (323°), reactive . 100 . 5 | 230 | PF=0.8C(R) | 50 | 001 | 0014 -0.6 *-PF=0
200%In, 100%Un, 1L (09), active 200 | 10 | 230 | PF1 . 50 002 | 0006
1200%In, 100%Un, OL (90°), reactive . 200 10 JTWz_sbw  PFO0 . 50 | 003 0011 -0.8
1200%In, 100%Un, 0.5L (60°), active 200 10 230 PF=0.5L(A) 50 0.02 0.007 .
1200%In, 100%Un, 0.5L (60°), reactive 200 10 230 PF=0.5L(R) 50 0.02 0.007
200%In, 100%Un, 08C (323 active . 20 10 | 230  PF=08C(A) 50 | 003 . 0014 -1
1200%In, 100%Un, 0.8C (323°), reactive 200 10 230 PF=0.8C(R) 50 0.03 0.028
1500%In, 100%Un, 1L (0°), active 500 25 230 PF=1 50 0.02 0.009
o, IO 1L, s 22 20 | vl | % 0.015 0.05 0.1 0.25 05 1 2 5 10 25 40 60 80 100 120
;"5"6"0%'15;"Ib'é'%tjﬁ,"b’ﬁé"L""('éb"Sj',"éé{i'v"é """"""""""""""""""""""""""""""""""""" so0 25 230 | PF=0.5L(A) . 50 | 003 0020 | A
1500%In, 100%Un, 0.5L (60°), reactive 500 25 230 PF=0.5L(R) 50 0.03 0.009 n [ ]
1500%In, 100%Un, 0.8C (323°), active 500 25 230 PF=0.8C(A) 50 0.00 0.017
1500%In, 100%Un, 0.8C (323°), reactive 500 25 f 230 PF=0.8C(R) 50 0.02 0.022
800%In, 100%Un, 1L (0°), active . 80 | 0 230 | | PFZ1 . 50 | 002 | 0006
1800%In, 100%Un, OL (90°), reactive 800 40 230 PF=0 50 0.02 0.005 0 . 2
1800%In, 100%Un, 0.5L (60°), active 800 40 230 PF=0.5L(A 50 0.00 0.022 o 2
800%In, 100%Un, 0.5L (60°), reactive 800 40 230 PF:O.SL((R)) 50 0.01 0.011 0.18 STDEV [%] - Standard Deviation
1800%In, 100%Un, 0.8C (323°), active 800 40 l 230 PF=0.8C(A) 50 0.03 0.003 . _
1800%In, 100%Un, 0.8C (323°), reactive . 80 | 0 230 | | PF=0.8C(R) | 50 | 000 0016 vs (calculated from 5 per-two pulses measurements)
1200%In, 100%Un, 1L (0%), active 1200 60 230 PF=1 >0 0.02 0.004 0.16 “‘
i1200%In, 100%Un, OL (90°), reactive 1200 60 230 PF=0 50 0.02 0.006 .
11200%In, 100%Un, 0.5L (60°), active 1200 60 230 PF=0.5L(A) 50 0.01 0.025
1200%In, 100%Un, 0.5L (0% reacive 1200 60 | 230 PEOSUR) S0 | 002 003 1044
11200%In, 100%Un, 0.8C (323°), active 1200 60 230 PF=0.8C(A) 50 0.01 0.013 g
1200%In, 100%Un, 0.8C (323°), reactive 1200 60 230 PF=0.8C(R) 50 0.02 0.021 -+=PF=1
1600%In, 1005%Un, 1L (0°), active 1600 . 8 | 230 . PF=1 50 002 0002 0.12
1600%In, 100%Un, OL (90°), reactive : PF=0 50 0.01 0.008
1600%In, 100%Un, 0.5L (60°), active C PF=05L(A) . 50 | 001 | 0029 \ -=PF=0. 8C( R)
1600%In, 100%Un, 051 (60°), reactive 1600 80 PF=0.5L(R) 0 | 001 0017 0.1 Q
1600%In, 100%Un, 0.8C (323%), active 1600 80 | 230 || PF-08C(A) S0 | 002 0005 \ +PF=0.8C(A)
1600%In, 100%Un, 0.8C (323°), reactive 1600 s 80 PF=0.8C(R) 50 0.00 0.031
2000%In, 100%Un, 1L (0°), active L 2000 100 | 230 | | PR . s0 | 002 | 0004 0.08 ry
2000%In, 100%Un, 0L (90°) reactive 2000 100 PF=0 50 o0 o009 @) X -<PF=0.5L(R)
12000%In, 100%Un, 0.5L (60°), active 2000 100 PF=0.5L(A) 50 0.03 0.026 "y
2000%In, 100%Un, 0.5L (60°), reactive 2000 100 PF=0.5L(R) 50 0.02 0.005 0.06 -=PF=0 5L(A)
2000%In, 100%Un, 0.8C (323°), active | 2000 | 100 | 230 | PF=0.8C(A) | 50 | 002 | 0004 ’
12000%In, 100%Un, 0.8C (323°), reactive 2000 100 PF=0.8C(R 50 0.01 0.012
2400%In, 100%Un, 1L (0°), active 2400 120 pp=1( ) 50 0.02 0.005 0.04 T *-PF=0
12400%In, 100%Un, OL (90°), reactive 2400 120 PF=0 50 0.03 0.004 2 ‘g‘
2400%In, 1009%Un, 0.5L (60%), active e 2400 120 |..230 | PF=OSL(A) | 50 | . 002 ..i...0028 0.02 = 7~
12400%In, 100%Un, 0.5L (60°), reactive 2400 120 PF=0.5L(R) 50 0.05 0.012 ¢ - X./Qﬂ\ L o
2400%In, 100%Un, 0.8C (323, active 2400 120 PF=0.8C(A) = 50 0.06 0.018 ‘ '<-%‘.—__db: i T —
12400%In, 100%Un, 0.8C (323°), reactive 2400 120 PF=0.8C(R) 50 0.02 0.032 0 &'\ B Lo — e S

1100%In, 100%Un, 1L (0°), 49.0Hz

100%]In, 100%Un, OL (90°), 49.0Hz

1100%In, 100%Un, 1L (0°), 51.0Hz

1100%In, 100%Un, OL (90°), 51.0Hz

SSO%ImaX, 100%Un, 1L (0°), 5-th harm. to U&I, active
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